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7,7 47771 2199 DPYY 1922 NIYD 1Y NR NRYY DY M) ANRY RN DWTR YTH 2 YD DIpN2 NRYND DR DRYIR KY YITn .

n5,n2 mow N 397 DNZ X7 RN NN KY MDY DPPYTR NIND 227 Y12 12 10712 TWR DIYTRD 112 DR 1R RN 1908 n¥n Ky i
75,10 K777 ;WA TR Y7 MY TURD YN MW MNR DHRON Y210 YRIY? 112 Y 1909 DYIY NEN? D27 NRT A

2,5 mow PN RIN DOYTR WIP DIDITY 1Y 1937 MW NNR 01920 NRVYD DTN NIYA NOR 1PNITR YY 1998 79I .

vs,02 22702: DMV DPIVIYI DNMNYI DINYPY DINITI DIITIN 725 DIPIYING 'Y 1DYA IR .
w4 22N TN N2 NYINIY 23R TIT M ¥INT 93YH TYIN YHY RIP 7272 TR 1aR YI NHD .
#,0 73702 :DTPIVI ANNINI TRRD NPT DADD NRVYD 729N NRVYN TOR DY VYV .

I Analysis of 2" opinion in "7 mwn (v"): N™ *PYW are 1931 for RNVN NR YIRY NNY, unlike D531 and 5"nv, each distinct
a  Source (NyWIN 77 w3 87): V. 1 (N™ YV, as 11aR 271 died on jo21 ™), via PY:Y from v. 2 (pren nx)
i P2y is NN for WTIPN NRMY (not 91N NRMV) —
i Sotoo: N YW is 99310 for a case where the wTp was Xnv, not the person eating it
1 Challenge: perhaps n" »w is 7931 for o (like yx)
(a) Answer: phrase is nTyn Y — must be some sin of non-o71n3 (as well as 0’112)
2 Challenge: since we infer from each other, why can’t n”1 1»w be n¥an for Xnv 38w 1NV and PNY? (if px broke)
(a) Answer:v.1uses singular 1y —n™ YV is 7931 for only one thing
3 Challenge: let the y>2 be nx n for both (for case where nkmv happened after n")
(a) Answer:v.1uses nmR - only n” 1w is 7931 for RO NR YIRY NNO
(b) Asnwer2 (»wx "): v2 uses mwTpn NY; distinguishing yr¥ (n7y 89 w7p) from n™ YW (DWVTP RN — ATV NY)
b Source for o511 *ryw (for 91037 15nN2 7Y’7 PA): as per RNN Y's observation of YYWI — N VYWDV VYV
i Justas: n™ Ywis 1950 for 0MWTP, so too 0YAY MYV
And it cannot: be for same as n", as per NMR
And it cannot: be for same as 3"y as per Mwa nNnR (v. 3)
And it cannot: be for case of 901 N NN NY*7 — that is 7 %Y 2P
And it cannot: be for nnna ny»1 v but not afterwards — that is “suspended” by nn81 nwyin v
5  Must be: for case of 9102 R 1Y NNa RS Ny PR
II  Analyiss of 3" opinion in "1 nawn (n™): all 3 (PN PYY D937 ,N™) are 1991 for same thing — VYR VTPN NRMV
a  Source: per Rnn "1 — YWY connects all 01w to each other, following n™ YW — same N9
i Challenge: in the context of mwTp, we don’t allow “daisy-chaining” of inferences
1 Answer: they are all directly inferred from n”y 9pv
ii ~ Challenge: in two cases (3”0 ,m»aw), the text has no v — v
1 Answer: all follows v. 5 — all o*1vm (even n™), which is a 7y as per v. 6) are compared to each other
b Note (73792 73): n™ agrees that 0292 NWYIN 1YY stands alone:
i It:isn’t 990n for anything else, it only has one 0793
ii ~ And:nothing else is 991 its n993 (which is “suspending” n%nna Ny but not yet aware) — as per v. 3
iii  Supporting 817712 n™ explicitly lists Rnvn NR YIRY NNY, no NNN2 MY and MO NPT RYH+1Y T — but not "n5n”
III Reassessing w™’s opinion and his exclusivity approach:
a  Backing:
i n"™ -~ v. 1reads ny - it only works for one py
ii oY~ n":v.1reads nmR - only n”1 1»w can work for its n793
iii o9 ~>9"nv: v. 3 - mwa nny; this 07193 can only happen once a year
iv. 9"ny ~2>w9: v. 3 nnR — it can only accomplish one n793
1 Challenge: nnR is in reference to 02191 nYwin YY; the “outer” 1'yw should work for oo»
2 Answer: v.7 compares inner and outer n*yw

B W N =

www.dafyomivicc.org 8 © Yitzchak Etshalom 2010




